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N.B.1) Question no 1 is compulsory.
2) Figures to the right indicate full marks.

3) Attempt any three from Q2 to Q6.

a multiple of another,
b) Functions f and g are defined as fol_l%ﬁ@?.%-
fR=R,gR-R f(x) = 2x+3;8() = 3x— 4

Find fog and gofog.

o L <d sin St) 05

d) Show that there dgg@in"_ _ 05
3x2 - 2x%y +y& &

Q2 a) Evaluate J‘ﬂ é‘*(ﬁﬁgﬁ'—“i"fﬁ) dz: 06

b) Evaluate th {(szﬂ ft'l 06

c) Fmd blhnear tr‘a 08

06

06

Tﬁ Laplace transform of following functions. 08

‘ ( |) e"'zt\fl - smt (i) te *'H (t—1)
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QP CODE: 24395
Q4 a) In how many difrerent ways can 4 ladies and 6 gentlemen be seated 06
in a row, so no ladies sit together.
b) Find analytic function whose real part is oA 06

sin 2x
cos h2y + cos 2x

¢) Evaluate inverse Laplace Transform of following functions 3

(i)

—21 ___ by convolution theor (ii) lo (1+£) !
G3)Goae DY convolution theorem g )

Q5 a) Solve the following equation by using Laplace transform

d s
d?:, + 2y +f ydt sint, gzven that y(

b) Find p such that the function - log(x * yz) + Lta!?’l v

c) Forx,y € Z,xRy if and :f only 2x+5y |?%NX,:-_ ‘ 08

isR an equwalence relatmn ? Find equivalenc

Q6 a) Each coeiﬂment of the equatio&&( +c= 0is determlned by 06
throwing an ordinary die. Fi e ability that the equation will
have real roots. _ W
b) A certain test for particula is known to be 95% accurate. A person 06
submlts to the test and t i§ positive. Suppose that a person comes from a

; -“.',_rfrom dlsease What can

we: concludea yut™
c) i) Iffwepm Tl S 04
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